103 R KT HREEF > A ERERDBEEF AR B EEI R4

4 % p :103.01.13

B % AR 55,914,502 K 51,583,626 “51%$107,498,128
13 p TA R ST 1ALy | KEFAEEY ¥EFT ST FaeFz ey
e 45,170,000 10,740,000 15,080,000 29,000,000 7,500,000
A KEFLKAR R | mEX 2 OV I - e - Ey1ivp| A
e * 38 p 2 o4 B2 4 B % e B IRE ?Iﬁm&iﬂq_ﬁ ?{EWF“%,\:,—,_F ey R TE o A
Het 2 57 5 (A) 21,349,180 27,327,673 | 644,989 | 1018000 | 5574,660 | 21,499,625 11,083,912 13928108 | 1074981 | 3997000 |7 91402
K 51,583,626
@ 1 3 7 #(B) 29,765,499 34,433,468 | 653,500 1,178,000 | 6,126,000 | 22,750,974 26,753,838 15,916,285 | 2,787,015 | 3,997,000 |) ;iiggﬁ;
w3 1 1
i & % (B-A) 8,416,319 7,105,795 8,511 160,000 551,340 | 1,251,349 15,669,926 1,988,177 | 1,712,034 0 ? ;g’ggi’igg
S(— ] )
Ly 3R (HET 3 FRE (SN (RBES 22 |LEg mfim |2 d2e p 370 (Lt efmie g o |L- EPH2 FF |RRTNE|FREERF
H@00F i F)e |28~ BEF |ITRAARAT KA - KT (2346004 |HEFET QACBAICERATY o (R R o A g2 s (g4 et £0F
2.5 kA RS ARETOR o R BEMR (M PR | RE € R SAHPAREFRPM & (250 2 ko | BRIRE L | AR A
# 2R A Ao (N ERE R R FA9%-FY |FBEHFHE (AR TR
% g | . FTRHE B 1t LR T e B |7 o 1iFgE Y2 iﬁp T4 e
= I BEE - 3HBA 2FL | FREEA|ELPH T A%
P w A SR RER (M T2 [FWRBR|ZE > ERPMET
1 * T o |H7 BARM ¢
6.4 @ A |4 L KB oA AT R
B Ao WipM P = o % o
‘e

1.103.6.5% 7 2% 4 % % (= )3 ¥ 1030793901A%% & j4f #4 57 % 5 107,498,128~ (45 ¥ 51,583,626~ ; 7 A 55,914,502 ~) » p 7 1 422 .5 % 10,749,812~ » 14 jid 25 510% 5 *2 o

2HEFAFER AR ERFFTAINNE RBFLFRARL A R ET > BB MEX)F T LR E ARG DGR R ER s AT S 2.20% 5 ' » 107,498,128%20%=21,499,625 -

3.1 M AEH ALY ST E 4 2 A B 1 17 4p M 5 % $107,498,128%1.5%=$1,612,472 » ~ & B L] H # 5 7 #451.6% 5 $107,408,128%1.6%=$1,719,970 % » AZiER T2 b o F A RUEREFAAHBBLIE 2 2 4H) T 8 Ha
AR B X 0 T E R R A 0¥ 34$3,439,040 % -



